fRra - Akt
iy

>
>

THEEE B SERIER - ifEEY/ REE

N R [@) B 1485
1tﬁ£—" ¥§2 h—( *Ez__l.'l fﬁ&tfi ﬂﬁ{#(ﬂ?%}) D RDG01/11/21/31 RDG02/12/22/41/51
- 8 4x8/M4x12 2517 M4x8/M4x12 Z11~
RDGO1 235 K2 TACO1 10 5x10/M5x12 17 M5x10M5x12 & 14~
RDG02 € SR FegEE | TAc21 12 5x16 24~ M5x16 24~ .
— Sl 15 | 395z [M5x16/M5%20 & Sz [M5x16/M5%20 24~ Al
RDG21 | #RAER D31 | AG063 REBBEREN | TACOT 20 f¢7m x20/M6x25 £: ftqm [M6x20/M6x25 ,—
25 | x25/M6x30 21| M6 x25/M6x30 | -
RDG22 FEEREN TAC21 oo TACOT Nigx30Max3s Eat |AC? Mex30MEx35 & i '
RDG41 0Cr18Ni9 |SUS304 — 35 x35/M8x40 £ [M8x35/M8x40 27 I
: —40]| [M8x40/MBx45 =24 | —
RO Q235 | 55400/ 2% __| TACOT 7 Ox45M10% B 2o =
EIE] FEREEE | TAC21
RDG31 LD31 | A6063 | ZE[HREM | TACO1
RDG51 0Cr18Ni9 |SUS304]  — TAC21
O MXPHFEBEER, B E N R TR AR~ M.
OBFFRWARR, KEEE-RASEERD, T2MmRITRIEE.
AR
RDG01/02/21/22/41 D17
D1H7 7y 63
D=8~12 A D=15~50 % o/
T T [ I I I I
ey :(4‘" o £E®l 4RI N S PN
B i e RNV
P * i i | O
K|
A A
E = s E F:0.1 G
+0.1 4-M H
2-M H N\ =
N K j j
2 Se T I 2 wn ! ‘@*7
N e N O
T T OT" T T ”
orl g | 1O
- H7
15@ 4-T DH7
5 ®
REE D1n7 Din7
RDG11/12/31/51  p=g~12 B D=15~50 '
ST A i I
YT Z ] N
— i e i ] o
K,
- K_|
A A
E F:0.1 G
E F10.1 G H
&\_H. Ll
| LR ol LN ety
O ]
LR N ] e
- H7
4-M Dur 5 @
16
® % ©
Mg S—08
Bs
e o Din7 A B © E F G H K Ni | N2 | M T S
8 | 0015 6| *§om 37 | 12 9o 13 [ 12 ] 12 8 7 M4 | 45
HRAER 10 ° 8 43| s 12 | 15 | 14 14 9 8 - -

RDG01 RDG02 12 | w00t | 44 ore 47 16 | 16 | 16 | | 10 0 M5 | 5.5
Rpo2) Rpe2z 15 | ° 51| 22 | 18 | 18 | 18 12 1| 9 )
N = I PP T e M o e P LRI

RDG11 RDG12 0
RDG31 RDG51 30 20 85 40 30 29 32 24 21 16 20 15
35 25 | *goa 98 | 45 | 85 | 82 | 39 | 27 | 24 | 19 | 24 | , | M8 | 9
40 | +g025 [ 30 106 | 50 | 40 | 34 | 43 | 29 | 26 | 21 | 25
RDGO01 RDG11
50 35 [ *99% [ 130 | 65 | 50 | 43 | 52 3 | 25 | 28 [ 28 [ m10] 11 S

35 3
@ (A% E] 3 DH7. LY ¥ ..ng 5
& RDGO1 (@) 6 HE 4 2 o
ROGD: 10 8 o & [100%] SERM

2
BRERIH g me— 0 KBHAGT)




	页 8

